H = 0l & AL S Al A
2RAET ZA 2 5 LEHE|H MRS ~ 2E
2N AS
B ZOHOKIAIGE Loiots HHEX
cel BOXXES S5 MTNXBE =& (12l M2
M- SA(3) - MRAY - BES Ofl &kl I & A Hlns
e 1,414,549 1,301,509 113,040
ZOIHOIXZIAIHE L0Its SREA 911,266 802,066 109,200
HOIKXIE S5 MENXIHE Z7 911,266 802,066 109,200
e EEESS 832,926 773.7%6 109,200
301 QPP AT 562,990 453,790 109,200
07 EX-0IE - SRESHAD 483,790 374,500 109,200
O o4y 400,0002 %7824 » 122! 374,400 280,800 93,600
O OI=AN2 400, 0002 *7824x23] 62,400 46,800 15,600
HH2AH| (A2 S) 434,469 433,509 90
|=2| 434,469 433,509 960
1= A 434,469 433,509 960
202 01t 50,640 49,680 960
01 =LH0it] 4,560 3,600 90
O 29 STl (72015 8oHAZEI})
80,0002 x2 & 62 960 0 960
ZOITEIME 29 68,814 65,934 2,880
Ml FORXIME 2 68,814 65,934 2,880
ARl FURXIME 29 68,814 65,934 2,880
301 QPP AT 60,600 57,720 2,880
14 J|EFE A2 60,600 57,720 2,880
O Z203 2% AASLY (X))
60,0002 *1 83! +62 2,880 0 2,880
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02435 =& 2 32 LetaH &g ~ 2EdH

2N 2SS
HH: FQURIIAIGE L0t BHEX
ool BOXXS 98 STNXBE =X (o) &)
SA - ZE - SA(FH) - AIRAY - BES Oi &k N3 A Hwsz2
=g 1,506,915 1,349,455 157,460
FOIRIAINE L0oits #HFEZ 933,698 802,198 136,500
HOIKAIZ SIst MAKXIBE S 933,698 802,198 136,500
SoHAT =T 873,167 736,667 136,500
201 YBr2 Y| 76,440 63,140 13,300
01 Ak222lH] 17,020 8,220 8,800
O WLAE 30| EaLc
100, 00024 <882 8,800 0 8,800
® BZ2YY| 49,420 44,920 4,500
O X 2AH|(LEH, GBI SEESY) 45,000 40,500 4,500
301 YBHHHD 654,500 531,390 123,200
07 SH- 01 - BRESEAS 546,140 422,940 123,200
O O1=4g 400, 00021 %88 » 122 422,400 316,800 105,600
O OI=ANS 400, 00021 *882§+25 70,400 52,800 17,600
N SAAY|(ZES) 475,377 474,417 960
o122l 475,377 474,417 960
DI 475,377 474,417 960
202 01t 52,630 51,670 960
01 2UH0it| 4,630 3,670 90
ZRX EWOIY| (720I% 82A=)
80,0002 x2 % x62 960 0 960
ZOITRIME 29 9,840 72,840 20,000
S5 FURNAME 29 92,840 72,840 20,000
25 FUNXME 2 9,840 72,840 20,000
201 YEr2 | 26,240 6,240 20,000
03 A2 b 20,000 0 20,000
O DIHY =0I5ket SH0HE SA} 20,000 0 20,000
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==
FOEO KXAUE S0t HE=A
HFOHXXE Sgt dATXSEE =8 (SH9 H2)
SA - FE - SRA(3H) - MRAE - BES Ofl &F2H I8N Hws2
2E 996,829 906,669 90, 160
FUEO AXAUE S0t dEFA 623,821 534,621 89,200
HHAXE Set AR = 623,821 534,621 89,200
SHAZFA 565,381 498, 181 67,200
301 LEENS 367,920 300,720 67,200
o7 8% -0 - H¥Es243 296,840 229,640 67,200
O olE+¢ 400,000& »48H « 122 230,400 172,800 57,600
O 0l¥a= 400, 0002 *48H 23| 38,400 28,800 9,600
HrEESEt £d 47,900 25,900 22,000
401 AlEBIYL S CHYI 32,000 10,000 22,000
01 Al£HI 32,000 10,000 22,000
O SEAIE EXI SAt 22,000 0 22,000
HY2HAH(EXE) 299,588 298,628 960
2 299,583 298,628 960
Jl= &l 299,583 298,628 960
202 Ot 36,710 35,750 960
01 =LHoi 4,070 3,110 960
SR ST0H| (7R01F 82+ FIt)
80,0002 x2H 62 960 0 960
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02435 =& 2 32 LetaH &g ~ 2EdH

FAM: OIS

2 FUXXAUE S0t dEFA
8

o9l TXIAGE S8 SEXXHE =X (o) &)
SA - ZE - SA(FH) - AIRAY - BES Ofl &kl I & A Hwsz2
R 1,311,044 1,173,504 137,540
ZOIXXIAIE SOIOts BREX 849,402 719,902 129,500
TXINTHE S5 HETRIBE =7 849,402 719,902 129,500
e 831,312 701,812 129,500
201 Ler2o| 56,720 49,620 7,100
01 A2l 16,100 9,000 7,100
O way 2% 2279
150, 00024462 900 0 900
O NLAT slolatuag
100, 00021 +62& 6,200 0 6,200
301 LUHPTD 501,510 409,110 9,400
07 SX-0lF - BERESEAS 407,030 314,630 9,400
O ol®+ 400,000 *662 * 122 316,800 237,600 79,200
O Ol=AZ 400,000 +66 2 +23| 52,800 39,600 13,200
401 Al HI2L 20 90,000 60,000 30,000
01 Al 90,000 60,000 30,000
O Y| 83| 30,000 0 30,000
HHSHAH| (0| M) 393,662 383,502 5,160
o= 393,662 383,502 5,160
PN 393,662 383,502 5,160
201 Ler2o| 331,74 327,542 4,200
2 =29 310,530 306,330 4,200
O wejs 2% |93
600,000 +72 4,200 0 4,200
202 OAH| 47,620 46,660 960
01 20404 5,380 4,420 90
O 2N =0l (720I% 82H2IZI})
80, 000212862 960 0 90
FOIXRIME 2% 67,980 65, 100 2,880
OIM FOIXXIME 2 67,980 65, 100 2,880
OIM FRIXIIME 2 67,980 65, 100 2,880
301 LB H2 59,880 57,000 2,880
14 JIEF2 A 59,880 57,000 2,880
O Z2I2Y AALY (1)
60,0002 %1 J}<83]x62 2,880 0 2,880
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QAT A 2 5| UBKS| AYS ~ B
2A: Ao
M FOUNAIANGE SO0PDHs #EEX
Gl AURAE Sot MRS =X (69 =)
SA - ZE - SA(FH) - AIRAY - BES Oi &k N3 A Hwsz2
40508 873,234 799,374 73,860
FOIRIAINE L0oits #HFEZ 571,230 500,730 70,500
HOIKIAIZ S8t MAKXBE S 571,230 500,730 70,500
SO Y = 561,690 491,190 70,500
201 YBr2 Y| 38,620 33,920 4,700
01 Ak222lH] 17,200 12,500 4,700
O WLAE 30| EaLc
100, 00024 +472 4,700 0 4,700
301 YBHFHD 335,790 269,990 65,800
07 SH- 01 - RESEAS 289,710 223,910 65,800
O 01=4g 400, 00024 +472 %122 225,600 169,200 56,400
O 0I=A0IS 400, 00021 #4724%23| 37,600 28,200 9,400
HH S| (ALD) 236,044 235,564 480
1= 236,044 235,564 480
o= 236,044 235,564 480
202 01t 29,300 28,820 480
01 201 2,420 1,940 480
O BLE EZ0{Y| (70|13 8oIAZI})
80,0002 1262 480 0 480
FOIRRIME 2 65,960 63,080 2,880
AAZOITIME 2 65,960 63,080 2,880
A9 ZOITXIME 29 65,960 63,080 2,880
301 YBHEAD 59,880 57,000 2,880
14 JIEHE A2 59,880 57,000 2,880
O Z2I8 2% FARY (1)
60, 00021 %1% +83| 62 2,880 0 2,880
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SA - FE - SRA(3H) - MRAE - BES I8N Z
831,905 742,925 88,980
XAITHE 00t =2 554,994 471,494 83,500
AXE St AKX #E =& 554,994 471,494 83,500
gy =a 545,454 461,954 83,500
201 =3 42,320 37,420 4,900
01 AFS2t2ltl 12,900 8,000 4,900
O e =& 100,000 «49H 4,900 0 4,900
301 Et2 &= 353,570 284,970 68,600
o7 & -0/ - etEEs2a=s 302,070 233,470 68,600
O ol 400,000 x49E « 12 235,200 176,400 58,800
O oIFaN=2 400,000 *49&H =23 39,200 29,400 9,800
401 AlEHIZ 01 20,000 10,000 10,000
01 AlZHI 20,000 10,000 10,000
O XN=s Bx3At 10,000 0 10,000
SHI(72018H) 213,711 208,231 5,480
ZHl 213,711 208,231 5,480
=24 213,711 208,231 5,480
201 L2 170,941 165,941 5,000
02 S3=24gl 155,000 150,000 5,000
O 33234l 155,000 150,000 5,000
202 044l 31,290 30,810 480
01 =LA LI 2,490 2,010 480

SR SZ0Hl (720I1F 8RHR=I)

80,0003 »1H+6E 480 0 480
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A £ 0l & AF & S

Al A

SA - FE - SRA(3H) - MRAE - BES I8N

610,643 556,663
XAITHE 00l & 420,49 366,995
AXE S8t Hd&X 420,495 366,995
PSR 410,955 357,455
201 =3 44,090 40,590
01 AFS2t2ltl 14,400 10,900
O e =& 100,000& 12| *x35H 3,500 0
301 Et2 &= 254,750 205,750
07 E& - 01& - gt 215,150 166, 150
O ol 400,000 x 123 »35H 168,000 126,000
O oIFaN=2 400,000 «2& «359 28,000 21,000
405 AtatE = 1,450 450
01 ML ESH 1,000 0
O dEF H=2 1,000,000 *1CH 1,000 0
2L AHI(HI=SH) 125,736 125,25
ZHl 125,736 125,25
Jl=2&Hl 125,736 125,25
202 0| 23,330 22,850
01 2L AL 2,210 1,730

O 222 &% (720|= 82tAFD1)
80,0003 1 H+6E 480 0
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2H: 2=
I FOINKAIGE Lopls SHHEX
Ol HOIKXIE S8t MEXRBN =T (o) &)
M- SA(3) - MRAY - BES Ofl &kl I & A Hlns
2o 731,939 664,867 67,072
ZOIXXIAIE SOIOts BREX 409,69 364,695 45,000
HOIXZIZ S5 MEXRBE =7 409,695 364,695 45,000
S0 BN =7 400, 155 355, 155 45,000
201 Ler2o| 43,956 40,956 3,000
01 A2l 14,660 11,660 3,000
O NYLSIAE 5lo BA2g
100, 00024+30& 3,000 0 3,000
301 LB H2 213,550 171,550 42,000
07 SX-0IF - BERESEAR 184,750 142,750 42,000
O ol®+g 400,002 * 122 +302 144,000 108,000 36,000
O 0I=AZ 400,00021%23/ x302 24,000 18,000 6,000
HH2AAH|(2F) 157,056 156,576 480
o=l 157,056 156,576 480
o=l 157,056 156,576 480
202 OAH| 23,330 22,850 480
01 20404 2,210 1,730 480
O 2N =Z0H| (720I% 82r2AZI})
80,00021+1 & +62 480 0 480
ZOIXRIME 29 165, 188 143,5% 21,50
2x Z0IXXME 2% 165,188 143,5% 21,50
2F FOXIIME 2 50,790 47,910 2,880
301 LB E2 44,640 41,760 2,880
14 JIEF2 A 44,640 41,760 2,880
O Z203 2% JALEY ()
60,00021+124+85|x62 2,880 0 2,880
Nesse 29 77,038 67,717 9,321
101 1214 55,918 46,597 9,321
04 DM 22 XS24 55,918 46,597 9,321
O X22=2e2% 9,321 0 9,321
D=2 78,8802 x224x20 2 %28l 6,942 0 6,942
-EE4y 78,88021 4224 x4 2 02 1,263 0 1,263
~oIRt g 78,88021 28 x2 316 0 316
gEa 200, 0002128 x22 800 0 800
MESDEHME 29 37,360 27,969 9,391
101 1214 27,960 20,969 6,991
B RS 27,960 20,969 6,991
O MERITEHSY 22l 6,991 0 6,991
D=3 78,8802 1 24%22 238l 5,207 0 5,207
] 78,88021+1 244232 947 0 947
b = 78,88021+1 & #32 237 0 237
282 200,00021%1 & +32 600 0 600
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SA: Bhare
M FONXAIGE L0t #HEX
Ol HOIKXIE S8t MEXRBN =T (69 =)
SA - ZE - SA(FH) - AIRAY - BES Ofl &kl I & A Hwsz2
3hared 657,229 581,869 75,360
ZOIXXIAIE SOIOts BREX 438,8% 379,89 59,000
HOIXZIZ S5 MEXRBE =7 438,89 379,895 59,000
e 429,355 370,355 59,000
301 LUBHD 289,420 233,420 56,000
07 EX-01F - BRIBSEAZ 248,140 192, 140 56,000
O ol®+g 400,00021*40% * 122! 192,000 144,000 48,000
O ol=AZ 400, 0002 *4024+23| 32,000 24,000 8,000
401 Al HI2L 2O 13,000 10,000 3,000
01 Al 13,000 10,000 3,000
O HB& MM B4(YE 8% S) 8,000 5,000 3,000
22| (BHHD) 150,714 137,234 13,480
1= 2| 150,714 137,234 13,480
o= A 150,714 137,234 13,480
201 Yer2 | 112,624 99,624 13,000
02 2| 98,000 85,000 13,000
O =Zz==2%4| 98,000 85,000 13,000
202 OFH| 27,310 26,830 480
01 2UH0it| 2,350 1,870 480
O ZLX X0l (720/5 8218l =0t
80,00021+1 & +62 480 0 480
FOIXIME 2% 67,620 64,740 2,880
BHab ZOIXXIME] 29 67,620 64,740 2,880
BH FOIXFIME 2 67,620 64,740 2,880
301 LPHBH2 55,560 52,680 2,880
14 JIEF2 A 55,560 52,680 2,880
O ZQIRXIME T2I24 2ASS (2F)
60,00021+124+85| 62 2,880 0 2,880
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SN BHD
HH: FOIIIAGE S0PHs #EEX
Col: HOIXIXIE S8 MAXXHE =X (12l M2
SN - GA(SH) - NRAY - BES O] a0 N E o HlRE2
270 347,968 325,088 22,880
FOITXIAINE Loiots HHEZ 270,688 247,808 22,880
HOTAS S8 HANXSBE =1 270,688 247,808 22,880
SHANEZ 212,506 192,59 20,000
201 Yer2 | 13,700 12,700 1,000
01 Al 21| 3,480 2,480 1,000
O HeSIa® 510 Bty
100,000 %1024 1,000 0 1,000
301 YPtE AT 72,360 58,360 14,000
07 EX - 0lF - SHRESIAD 61,800 47,800 14,000
O ol&+g 400,002 ¥ 1024 %122 48,000 3,000 2,000
O OIFAS 400,002 ¥102#23] 8,000 6,000 2,000
401 A& HI L S OHH| 33,000 28,000 5,000
01 Al&H| 33,000 28,000 5,000
O AHOIMBHSTY A4 QIATA 5,000 0 5,000
ZOTXME 2o 48,552 45,672 2,880
301 YerEA 2 39,480 3,600 2,880
14 JIEL2 A 39,480 3,600 2,880
O ZRIY 29 AA%L (F)
60,0002 %124 +85|+62 2,880 0 2,880
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